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[aor = 1.0000,000- - < E + 00]
a1 = —3.1692, 5252, 8282, 5252,828E + 03
 [a1z = —3.1689,500 - - - £ 4 03)
 ay = 8.5954, 9892, 7084, 9892, T08E + 04
[ar. = 8.5950,671+ - E+04]
a3 = —1.4911, 2345, 6789, 0123, 456 E + 04
lear = ~1.4912,799 -+ E + 04)] |
a4 = 2.0920, 0000, 0000, 0000, 0005 - 01
[aar = 2.0917,991 .-+ E + 01]
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[zor = 2.7182,818 - E + 01 ='¢ x 10']
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(a3 — cobs) — c1ba = —1.7205, 5000, 000 — 04
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[a2r = —9.8696,043--- E £ 04]
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oy = 3.1415,926 - - - E + 02]
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[~ 1.7461,929- - E — 01]

0y = —9.8704, 9892, 7085, OF -+ 04
coby = by = —9.8704, 9895, 2492, 9E + 04
g — coby = 2.5407,9000,0000,0F — 04
‘ciby = 9.10,7025,0860,035E — 06
o= (n- cobs) —ciby = 2.4497,1974,9140,0E — 04)
(2.4497,2418, 4803, 5E — 04)
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[aar = —7,7878,414- .. E 401}

a4 = 4.6732, 4940, 0000, 0 + 01
[o4r = 4.6732,494. .. E +01]
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Ty = 2.7188, 4958, 1639, 9 + 00
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0y = —1.1322,9131,2E + 01
coby = by = —7.190,9850, 94E - 00
¢y = ay — coby = —4.131,9280, 26 + 00
(—4.131,9280, 29E + 00)
[~4.132,4953: -+ E +00]

az = 4.5715,1252,8F + 01
cobe = 1.2159, 0637, 7E + 01
ay — coby = 3.3556,0615, 1E + 01
e1by = 2.9712, 6328, 4E + 01
¢z = (az — cobz) — c1by = 3.843,4286, T0E + 00 -
(3.843, 4286, 4TE + 00)
[3.844,2310- - E 4 00]

a3 = —1.7878,4145,0E + 01

c1bg = —5.0240, 3763,6E + 01

a3 — c1by = —2.7638, 0381, 4E + 01

| caby = —2.7638,0382, 8E + 01

(a3 — c1b) — eaby = 1.4000,0000,0E — 07

a4 = 4.6732,4940, 0 + 01
oy ='4.6732,4942,9E + 01
a4 — cabp = 29000, 0000, 0F ~ 07

Aay = 5.0x 1077



181

@ﬂﬁglvz"gz?i%gé\zf. 27@23}5\‘ |
fab(x)=& b X" =0, fm(z)—*g@lw;O
ANEVUPONT 2ERNA T Th ) . AF& b, CIETR
THEN (8/2=4) 4HTTH5. LovL. 279 92 KA
547 0RBERS B L. BHROGEI KT, 2 EAROARRIL
IHTHE. Thbs. "boBiebo$E, TC 0%
£LC08%E  (RANEYRIBO MBS SHTIRH 1A | 5
A7 TR . 36 A LEBoMEN . by, CLliA? T
CHREMEL T 2@k BOME L ECL T oiK
ANEEEIL ] 7T HA. HNH5) BRI L T /En L&
|ER)BIK (6) PSR IL L 76 v,



